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DIPLOMA IN PRIMARY EDUCATION (DPE)
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ES-221 : UNDERSTANDING THE PRIMARY
SCHOOL CHILD
Time : 3 hours Maximum Weightage : 70%

Note: (i) All questions are compulsory.
(i) All questions carry equal weightage.

1. Answer the following question in about
600 words.
Describe the various stages of development.
Discuss the developmental stages associated with
the primary school age group children with
examples. '

OR

Describe the major physical changes that are ¢
found in elementary school children. Discuss the
importance of knowledge of these changes for a
primary school teacher.

2. Answer the following question in about
600 words.
Describe the characteristics of a well-integrated
child. Discuss the role of a parent in facilitating
cognitive development in a child.

OR

Describe the importance of play in overall
development i.e. physical and motor, cognitive
and language, socio - emotional and imagination
in children. Discuss a play activity that can be
used to promote development of children.
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3. Answer any four of the following questions in
about 150 words each.

@)
(b)

(©)

Describe constructive play with an example.

Discuss role of a teacher in facilitating
cognitive and language development in
children.

Describe an environmental factor that may
influence integrated  personality
development. Give example in support of
your answer.

Describe physiological needs with examples.

Write a note on pattern of moral
development.

Describe the concrete - operational stage in
Piaget’s theory of cognitive development.

4. Answer the following question in about
600 words.

Describe the causes of infant - mortality and
child-rearing practices in our country. Discuss
the measures that can be taken to minimize infant
mortality and facilitate better child - rearing
practices in your area.
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